



Refinements of Aczél, Popoviciu and Bellman's inequalities

J.L. Díaz-Barrero^a, M. Grau-Sánchez^{a,*}, P.G. Popescu^b

^a Technical University of Catalonia, Applied Mathematics III and II, Jordi Girona 1-3, 08034 Barcelona, Spain

^b Automatics and Computer Science Faculty, Bucharest, Romania

ARTICLE INFO

Article history:

Received 15 January 2008

Received in revised form 22 April 2008

Accepted 27 May 2008

Keywords:

General inequalities

Discrete multivariate inequalities

Aczél's inequality

Popoviciu's inequality

Bellman's inequality

ABSTRACT

In this paper, splitting finite sums, refinements of the inequalities of Aczél, Popoviciu and Bellman are obtained.

© 2008 Elsevier Ltd. All rights reserved.

1. Introduction

In 1956, Aczél [1,2] published the following result.

Theorem 1. Let n be a positive integer and let $A, B, a_k, b_k, (1 \leq k \leq n)$ be real numbers such that $A^2 \geq \sum_{k=1}^n a_k^2$ or $B^2 \geq \sum_{k=1}^n b_k^2$. Then

$$\left(A^2 - \sum_{k=1}^n a_k^2\right) \left(B^2 - \sum_{k=1}^n b_k^2\right) \leq \left(AB - \sum_{k=1}^n a_k b_k\right)^2$$

with equality if and only if the sequences A, a_1, \dots, a_n and B, b_1, \dots, b_n are proportional.

Later in 1959 Popoviciu [2,3] gave a generalization of the preceding inequality.

Theorem 2. Let n, p be positive integers and let $A, B, a_k, b_k, (1 \leq k \leq n)$ be real numbers such that $A^p \geq \sum_{k=1}^n a_k^p$ or $B^p \geq \sum_{k=1}^n b_k^p$. Then,

$$\left(A^p - \sum_{k=1}^n a_k^p\right) \left(B^p - \sum_{k=1}^n b_k^p\right) \leq \left(AB - \sum_{k=1}^n a_k b_k\right)^p.$$

* Corresponding author.

E-mail addresses: jose.luis.diaz@upc.edu (J.L. Díaz-Barrero), miquel.grau@upc.edu (M. Grau-Sánchez), pgpopescu@yahoo.com (P.G. Popescu).

A related result due to Bellman [2,4] that appeared in 1956 is stated in:

Theorem 3. Let n, p be positive integers and let $A, B, a_k, b_k, (1 \leq k \leq n)$ be nonnegative real numbers such that $A^p \geq \sum_{k=1}^n a_k^p$ and $B^p \geq \sum_{k=1}^n b_k^p$. Then,

$$\left(A^p - \sum_{k=1}^n a_k^p\right)^{1/p} + \left(B^p - \sum_{k=1}^n b_k^p\right)^{1/p} \leq \left((A+B)^p - \sum_{k=1}^n (a_k + b_k)^p\right)^{1/p}.$$

Our goal in this paper is to split conveniently the sums that appear in the above inequalities, and to apply the inequalities again, to obtain refinements of the preceding results.

2. Main results

In the following refinements of Popoviciu's and Aczél's inequalities are given. The first is stated and proved in the following.

Theorem 4. Let n, p be positive integers and let $A, B, a_k, b_k, (1 \leq k \leq n)$ be real numbers such that $A^p \geq \sum_{k=1}^n a_k^p$ or $B^p \geq \sum_{k=1}^n b_k^p$. Then, for $1 \leq j < n$

$$\left(A^p - \sum_{k=1}^n a_k^p\right) \left(B^p - \sum_{k=1}^n b_k^p\right) \leq R(A, B, a_k, b_k) \leq \left(AB - \sum_{k=1}^n a_k b_k\right)^p,$$

where

$$R(A, B, a_k, b_k) = \left(\sqrt[p]{A^p - \sum_{k=1}^j a_k^p} \sqrt[p]{B^p - \sum_{k=1}^j b_k^p} - \sum_{k=j+1}^n a_k b_k\right)^p.$$

Proof. First, we split the left-hand side of the preceding inequality as follows

$$\begin{aligned} \left(A^p - \sum_{k=1}^n a_k^p\right) \left(B^p - \sum_{k=1}^n b_k^p\right) &= \left(A^p - \sum_{k=1}^j a_k^p - \sum_{k=j+1}^n a_k^p\right) \left(B^p - \sum_{k=1}^j b_k^p - \sum_{k=j+1}^n b_k^p\right) \\ &= \left(M^p - \sum_{k=j+1}^n a_k^p\right) \left(N^p - \sum_{k=j+1}^n b_k^p\right), \end{aligned}$$

where $M = \sqrt[p]{A^p - \sum_{k=1}^j a_k^p}$ and $N = \sqrt[p]{B^p - \sum_{k=1}^j b_k^p}$. From the above expression and the hypothesis immediately we obtain $M^p \geq \sum_{k=j+1}^n a_k^p$ or $N^p \geq \sum_{k=j+1}^n b_k^p$. Therefore, applying generalized Aczél's inequality, we get

$$\left(M^p - \sum_{k=j+1}^n a_k^p\right) \left(N^p - \sum_{k=j+1}^n b_k^p\right) \leq \left(MN - \sum_{k=j+1}^n a_k b_k\right)^p.$$

On the other hand, applying generalized Aczél's inequality again it follows that $MN \leq AB - \sum_{k=1}^j a_k b_k$ and we have

$$\begin{aligned} \left(A^p - \sum_{k=1}^n a_k^p\right) \left(B^p - \sum_{k=1}^n b_k^p\right) &= \left(M^p - \sum_{k=j+1}^n a_k^p\right) \left(N^p - \sum_{k=j+1}^n b_k^p\right) \\ &\leq \left(MN - \sum_{k=j+1}^n a_k b_k\right)^p \leq \left(AB - \sum_{k=1}^j a_k b_k - \sum_{k=j+1}^n a_k b_k\right)^p \\ &= \left(AB - \sum_{k=1}^n a_k b_k\right)^p \end{aligned}$$

and the proof is complete. \square

Setting $p = 2$ in the preceding result we get a refinement of Aczél's inequality.

Corollary 5. Let n be a positive integer and let $A, B, a_k, b_k, (1 \leq k \leq n)$ be real numbers such that $A^2 \geq \sum_{k=1}^n a_k^2$ or $B^2 \geq \sum_{k=1}^n b_k^2$. Then, for $1 \leq j < n$

$$\left(A^2 - \sum_{k=1}^n a_k^2 \right) \left(B^2 - \sum_{k=1}^n b_k^2 \right) \leq R(A, B, a_k, b_k) \leq \left(AB - \sum_{k=1}^n a_k b_k \right)^2,$$

where

$$R(A, B, a_k, b_k) = \left(\sqrt{A^2 - \sum_{k=1}^j a_k^2} \sqrt{B^2 - \sum_{k=1}^j b_k^2} - \sum_{k=j+1}^n a_k b_k \right)^2.$$

Likewise, applying the same procedure we get the following refinement of Bellman’s inequality.

Theorem 6. Let n, p be positive integers and let $A, B, a_k, b_k, (1 \leq k \leq n)$ be nonnegative real numbers such that $A^p \geq \sum_{k=1}^n a_k^p$ and $B^p \geq \sum_{k=1}^n b_k^p$. Then, for $1 \leq j < n$

$$\left(A^p - \sum_{k=1}^n a_k^p \right)^{1/p} + \left(B^p - \sum_{k=1}^n b_k^p \right)^{1/p} \leq R(A, B, a_k, b_k) \leq \left((A + B)^p - \sum_{k=1}^n (a_k + b_k)^p \right)^{1/p}$$

where

$$R(A, B, a_k, b_k) = \left[\left(\sqrt[p]{A^p - \sum_{k=1}^j a_k^p} + \sqrt[p]{B^p - \sum_{k=1}^j b_k^p} \right)^p - \sum_{k=j+1}^n (a_k + b_k)^p \right]^{1/p}.$$

Proof. We have

$$\begin{aligned} \left(A^p - \sum_{k=1}^n a_k^p \right)^{1/p} + \left(B^p - \sum_{k=1}^n b_k^p \right)^{1/p} &= \left(A^p - \sum_{k=1}^j a_k^p - \sum_{k=j+1}^n a_k^p \right)^{1/p} + \left(B^p - \sum_{k=1}^j b_k^p - \sum_{k=j+1}^n b_k^p \right)^{1/p} \\ &= \left(M^p - \sum_{k=j+1}^n a_k^p \right)^{1/p} + \left(N^p - \sum_{k=j+1}^n b_k^p \right)^{1/p}. \end{aligned}$$

Since $M^p = A^p - \sum_{k=1}^j a_k^p$ and $N^p = B^p - \sum_{k=1}^j b_k^p$, then from the hypothesis we have $M^p \geq \sum_{k=j+1}^n a_k^p$ and $N^p \geq \sum_{k=j+1}^n b_k^p$. Applying Bellman’s inequality yields

$$\left(M^p - \sum_{k=j+1}^n a_k^p \right)^{1/p} + \left(N^p - \sum_{k=j+1}^n b_k^p \right)^{1/p} \leq \left((M + N)^p - \sum_{k=j+1}^n (a_k + b_k)^p \right)^{1/p}.$$

Applying Bellman’s inequality again, we get

$$M + N = \sqrt[p]{A^p - \sum_{k=1}^j a_k^p} + \sqrt[p]{B^p - \sum_{k=1}^j b_k^p} \leq \left((A + B)^p - \sum_{k=1}^j (a_k + b_k)^p \right)^{1/p}.$$

Now, combining the preceding expressions, we obtain

$$\begin{aligned} \left(A^p - \sum_{k=1}^n a_k^p \right)^{1/p} + \left(B^p - \sum_{k=1}^n b_k^p \right)^{1/p} &= \left(M^p - \sum_{k=j+1}^n a_k^p \right)^{1/p} + \left(N^p - \sum_{k=j+1}^n b_k^p \right)^{1/p} \\ &\leq \left((M + N)^p - \sum_{k=j+1}^n (a_k + b_k)^p \right)^{1/p} \\ &\leq \left[(A + B)^p - \sum_{k=1}^j (a_k + b_k)^p - \sum_{k=j+1}^n (a_k + b_k)^p \right]^{1/p} \\ &= \left((A + B)^p - \sum_{k=1}^n (a_k + b_k)^p \right)^{1/p} \end{aligned}$$

and this completes the proof. \square

Acknowledgement

The authors thank the Ministry of Education of Spain that has partially supported this research by grant MTM2006-03040.

References

- [1] J. Aczél, Some general methods in the theory of functional equations in one variable. New applications of functional equations, *Uspehi Mat. Nauk (N.S.)* 11 (3 (69)) (1956) 3–68 (in Russian).
- [2] D.S. Mitrinovic, J.E. Pecaric, A.M. Fink, *Classical and New Inequalities in Analysis*, Kluwer Academic Publishers, Dordrecht, Boston, London, 1993.
- [3] T. Popoviciu, On an inequality, *Gaz. Mat. Fiz. A* 1 (64) (1959) 451–461 (in Romanian).
- [4] R. Bellman, On an inequality concerning an indefinite form, *Amer. Math. Monthly* 63 (1956) 108–109.